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a=cXcosd
b = ¢ X sind
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1. ZoyyiniE Am/At & pF R enBf %
s 100g

) L g mih R (g)
1 2 3 4 5
D=0.37cm 20 14.7 14.5 14.7 14.7 14.7
D=0.48cm 9 18.6 19.3 17.9 18.9 18.3
D=0.58cm 4 16.8 16.4 16.5 16.3 16.7
_ Jm i ik (g/s)
AL 1 2 3 4 5
D=0.37cm 20 0.74 0.73 0.74 0.74 0.74
D=0.48cm 9 2.07 2.14 1.99 2.10 2.03
D=0.58cm 4 4.20 4.10 4.13 4.08 4.18

2. FRIE $=30° B F b BT E D B EIE o
iy 100g

dm i B Sk P FE (s) KT =Pk ]
1 2 3 (g/s)
D=0.18cm R R - P i S N X
D=0.28cm SR NI PRSI il X
D=0.37cm 137.90 135.59 138.50 0.728
D=0.48cm 46.06 46.21 46.11 2.168
D=0.58cm 23.25 23.17 23.27 4.305
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i) 100g

A DRI R (S)

AP (e/s)

1 2 3
$=50° 35.44 35.41 35.31 2.826
$=40° 35.38 35.35 35.27 2.830
$=30° 35.31 35.09 35.02 2.846
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2.846x30=85.4 (g)
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